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Roll Number www.HaryanadJobs.in
Candidate Name www.HaryanadJobs.in
Venue Name Bharat Institute of Technology
Exam Date 10/08/2022

Exam Time 9:00 AM - 11:00 AM

Subject Paper 3 Statistics

Section : Statistics

Ans

Q1 e v & fore gnn o Fofafes e s

n=43%X = a,Y¥ = 10,5XY = 21, TX* = 30,£¥* = 30 g1 TG TgU UNE —0.8 T, T a HT A I1G S|
X109

X2.7

« 3 10

X4 8

Question Type : MCQ
Question ID : 26433083829
Status : Answered
Chosen Option : 1

Q.2

Ans

AW x ARy & o, AufaRad vevr & arufileg o mar g
X 3 4 4

¥: 10 10 9
T geday U 31 S|

X1 —0.110

« 2 —0.125

X3 —0.120

X 4. —0.100

Question Type : MCQ
Question ID : 26433083833
Status : Answered
Chosen Option : 1

Q.3

Ans

&Iﬂﬁl‘g’ﬂa? IRER (interquartile range) g . T N 8 8ld g
& 1. 50%
X2 100%
X3 75%

X4 25%

Question Type : MCQ
Question ID : 26433083809
Status : Answered
Chosen Option : 4




Join Telegram Group "HaryanadJobs.in"

U BT U 1Y ST R S 7 UK U o & Wi 31 3

Ans X 1. 8/36
« 2. 6/36
X3 7/36
X4 5/36
Question Type : MCQ
Question ID : 26433083813
Status : Answered
Chosen Option : 2
Q.5 e
Ao Ty
x 1L 2 3 4
y: 4 § 3 2
& [0, GHISUI 0T by, (x Wy) [HHb RERE?
Ans  X'1. 0.8
2 —0.8
<3 —0.86
<4 086
Question Type : MCQ
Question ID : 26433083835
Status : Answered
Chosen Option : 3
Q6 7y A 3R B RER SUARNT Tl U USR & 6 P(A)P(B) > 0 B, l HIF 41 fadhed TET 32
Ans X 1. Bc A
X2 A 3R B@dAG
X3 AcB
v 4 A 3R B WS §
Question Type : MCQ
Question ID : 26433083914
Status : Answered
Chosen Option : 4
Q.7 =g V&0 16.12. 6.2, 4. 10 B TG HHET (kurtosis) 1.7414 T, A 8, 6. 3, 1, 2, 5 B GAP T (population
klmosis)ﬂmg'l‘ﬂ?
Ans  X'1. 3.4828
<2 0.43535
3. 1.7414
X4 0.8707
Question Type : MCQ
Question ID : 26433083890
Status : Answered
Chosen Option : 4
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Q.8 g g deq o

ﬂx’g):{%;OstB
0: 3T+
T URDTI Hy: 6 = 1 T4 H,:6 = 2 BT Teir e oxd 81 oa ®ifdd &89 % > 0.4 8, verR-m IR &t
IRl &l HIF F1d PIfod |
Ans X 1. 0.24
X2 025
<3 030
« 4 020
Question Type : MCQ
Question ID : 26433083857
Status : Answered
Chosen Option : 3
O fpfefad 7 QB9 91 e o U Y &1 TE1 Y T SRl 82
BCEacT o HgIdr XAl ¢
(1) e =g FaRor o
(IT) He TS 1l [HefRor o
(II1) a1 &R o
A
"= @b, (), 3R @
X 2. &had (1) 3R (11)
X 3. ohad (1) 3R (1)
X 4. Had (1) AR (110)
Question Type : MCQ
Question ID : 26433083839
Status : Answered
Chosen Option : 2
Q10 Frarsd # URaR F Gl &1 981 & 9 IRERAT s BT JHiaR J1 gl
X 3 5 6 8 9 10
JRERAT:1 4 2 1 3 2
Ans  X'1. 7.023
<2 4923
< 3. 5023
w4 0923
Question Type : MCQ
Question ID : 26433083874
Status : Answered
Chosen Option : 4
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M RuwgEers, s, 12, 10, 20, 4 H A Ffe ARl

R £
3

X2 Y8

3

X3 V45

3

x4 Vi

3

Question Type : MCQ
Question ID : 26433083950
Status : Answered
Chosen Option : 1

O Rafifad ¥ A i 1, SeT & qiileRu Bl YR 7 82
Ao YT arffer

X 2. BIATIhHD TR0

X3 HTiferes gffepRur

X 4. T[UTTHD BRI

Question Type : MCQ
Question ID : 26433083906
Status : Answered
Chosen Option : 4

Q.13 fz ga fg & ol ygar, guwr 2R e 2ol asr 2, 8 3R 18 g1, O AT % ufva: e gl A s i
Ans 1. —14

X212

X3 14

X4 12

Question Type : MCQ
Question ID : 26433083892
Status : Answered
Chosen Option : 1

Q14 oy sfimsT TG 8, 10, 8, 7. 9 BT HUA IGYF 7.5 8, A I e &1 7H I B
Ans X1 7.5

X205

« 3 1.0

X4 25

Question Type : MCQ
Question ID : 26433083882
Status : Answered
Chosen Option : 3
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QA5 gy, SBR n B TG Y WO T 1, TR GO ST e g1, o aredere e 3 ferg udiamon

Ans

et Bl

t s i‘p‘\l’ﬂ.—'bl'

o 1. 5
1—1’-_5

_ g rpyn—v
5 =
x ||1+1r'§

i’p‘\l’ n+wv

1 —Tp

w3, b

T’p‘\.’ n+v

X4 T="—
1+1"§

Question Type : MCQ
Question ID : 26433083930
Status : Answered
Chosen Option : 1
Q16 v 11 e x & A [adea B SRl g | X AR v o5 a1 Hgdas 0T 0.5 ¢ | SIS0 fana & did &1
T HI0 1 S|
Ans 4
X 1. arctan (E)
) 1
X 2. arctan (g)
. 2
< 3. arctan (E)
3
« 4. arctan (E)
Question Type : MCQ
Question ID : 26433083936
Status : Answered
Chosen Option : 2
QA7 A 4 Temit ¥ @ F T BT 2.5,0.5, —1.5,—1.5 T, T TR I (SR T TS frue et
B8
Ans  X'1.0.2
2 —0.1
X3 0.1
<4 —0.2
Question Type : MCQ
Question ID : 26433083831
Status : Answered
Chosen Option : 3
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Q.18 ofg fafir=T R & Felarfedl o1 TRem & A sfiweT Taw § Udie U&i & GRIAT &2 a1 oaT of, o agds

X1 &ns?ﬁam%
v 2 FHMIEA 8
X 5 Wl SR 81 oI 8

X 4. TQ BT IR A1 81 STl &

Ans

Question Type : MCQ
Question ID : 26433083789
Status : Answered
Chosen Option : 4
" Deqit 3 forg wHRa eties P R
W 9.3 25 57
dNERdl : 2 1 2
e I 1
A X1 U e B ol Gehdl &
v AR
X3 D §
X 4 BUTHAS §
Question Type : MCQ
Question ID : 26433083902
Status : Answered
Chosen Option : 3
2 gfe ge B He SR AT 12 3R 21 2, A g Har e
A X1 oIS T Y 9N
v 2 FUTdHS &Y Y 999
X 3 quRIAIg! I
X 4 Zgap1 oy MY 81 foedr o S
Question Type : MCQ
Question ID : 26433083898
Status : Answered
Chosen Option : 2
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Q21 @y iRy W AT = 10,Ty = 14,5x% = 30,Ty? = 54, Txy — 31 S U 4 DU UFA P &1 x TR
THIHGU Tl y 1 S|

Ans X 1. y=-0.8x—5.5
X2 y=0.8x+55
X3 y=08x—55
4 y=—08x+5.5

Question Type : MCQ
Question ID : 26433083934
Status : Answered
Chosen Option : 3
Q.22 o5t REM o BHaAE! &1 o (@1 H) & Uad SRR §e & [OU agad & 94 31d S
EFT 1.5-2.5 2.53.5 3.5-45 4.5-55
CIRCIEGIE! 3 4 2
Ans  X1. 3,533
<2 3333
« 3. 3.833
<4 3933
Question Type : MCQ
Question ID : 26433083876
Status : Answered
Chosen Option : 3
Q2B st i faRwarel & SuR W i d fbg oM & e, & 19 91 fddhed el 32
Ans x 1. i,l ﬂﬁ ff
2. T[0T GHIeBRUT
X 3. YfasIt gAfiamRur
X 4. areyrdl gffenul
Question Type : MCQ
Question ID : 26433083807
Status : Answered
Chosen Option : 4
Q.24 Sy & v T &1 S a1 o R T &1 UaNT R & JaTeRul FHEiad § SF-91 82
Ans X 1.
THhfeady 7o # {6l fhpe faame! & oiies (statistics)
v 2. YAR HIFH[ (media) GRI IA19-Yd HAGH
X 3. fqeT U & 919
X 4. OIIUIAT (census)
Question Type : MCQ
Question ID : 26433083851
Status : Answered
Chosen Option : 2
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Q25 7f fét g binomial) fERUI &1 AeA(mean) AR TR Vl(variance) FR: 5 3R 4 8, T o BTAN g
Ans 1. 25

<2 10

X3 15

X4 20

Question Type : MCQ
Question ID : 26433083868
Status : Answered
Chosen Option : 2

2 i @ feuirge & Hifere Rigia Fafifad 2
(1) TEfw5hIH]

(11) Ufdpdia
(I11) I Fg=0

P 1 [qhed Tl 82
A" X1 e (1) IR ()
X 2. Had (11) 3R (1)
X 3. ohad (1) AR (110
< 4 (D), (ID), 3R () gt

Question Type : MCQ
Question ID : 26433083928
Status : Answered
Chosen Option : 2

Q.27 ﬁgﬁ@ﬁﬁ@fﬁfﬁw (skewness) ﬁm%mﬁmmaﬁmﬁm (moment) ﬁqaaﬁa%
Ans o Qfﬂtl YIU[(moment)

X2 fgdig TYIU(moment)

X3 a‘g’?i IR0 moment)
X 4. UYH DU moment)

Question Type : MCQ
Question ID : 26433083884
Status : Answered
Chosen Option : 2
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° fifed TET (ANOVA) TTTTRT & R

faavur &1

il @l
AT

WA Hife

3fay 45 3
[RESE LI

e 32 16
od 99 19

F — HiRgga! I1d Sifoiu|

Ans 1. 7.5
X2 173
X3 7.4
X4 72
Question Type : MCQ
Question ID : 26433083859
Status : Answered
Chosen Option : 4
Q.29 5 yragurt 1 Tre fererer SR TS e 0T, 1.2 3R 0.4 1 A% WoH AR UE1 1 GAT 10 B, @ Ufeat ug 19
Hifer|
Ans 1. 4
X2 45
K3 55
w4 5
Question Type : MCQ
Question ID : 26433083811
Status : Answered
Chosen Option : 1
Q.30 . .
HlpSTHHTY 4, 3, 7, 10, 9, 1 PI HIdd ¢RHSD (D7) 82
Ans  X'1. 8.9
2 B8
X3 87
X4 8.0
Question Type : MCQ
Question ID : 26433083878
Status : Answered

Chosen Option :

1
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W B 1 e o 20

Ans X 1.
k ﬁFq'Uﬁ(treatmems) RN ﬁ&fﬂﬁ(obsewaﬂons)$m,¥ﬂﬁ$ R fGRu s A N—k BR e

x 2.
K Fegurt (treatments) 3R N TefoT (observations) %ﬁﬂf{, Wﬁﬂwﬁwaﬁﬁ N-—-1 ‘aﬁ?ﬂ%

o 3.

k fReTurf (treatments) AN ﬁ&mﬁ(obsewations)%m, Ul & if Ares A SR mmmtﬂn%&lﬂw
FEEABRN -1 k-1 N

X 4.
k =g (treatments) RN THeru {observations) %ﬁﬂ, W%Eﬁaﬁwaﬁwﬁﬁ k-1 Eﬁ?ﬁ%

Question Type : MCQ
Question ID : 26433083825
Status : Answered
Chosen Option : 2
Q.32 i 2
Hgifdd THaT (ANOVA) TIi®T & [T, F — Tikera! gl
YERUI & | ol | A
Hra P | Bifc
Fegadt |75 |3
IGESEL|
Ffe 48 |16
o 123 | 19
Ans X' 1. 8.60
X2 733
< 3. 899
4 B33
Question Type : MCQ
Question ID : 26433083958
Status : Answered
Chosen Option : 4
Q.33 225 STHN FT U efwsed Hiaed, J1eT 3R W fage o el SAf I fomn o 81 wioest A, 71 100
T A FT 4/3 TTel 27 B IR TRAT 8| ¢ AR ¢ & A 10 Hifo
Ans 1. (100, 24)
X 2. (100, 15)
X 3. (100, 18)
« 4. (100, 20)
Question Type : MCQ
Question ID : 26433083855
Status : Answered
Chosen Option : 2
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* SeT & forw gt e el T 3

X.: = 0 1
p{z}: 03 05 92
Ans « 1. —-18
X2 —0.3
X318
X403
Question Type : MCQ
Question ID : 26433083894
Status : Answered
Chosen Option : 2
Q35 gfe fau e aficsr ag=a 7. 10, 7, 5. 9 BI dlav1 agde® 9.5 €1, dl Iqdie fAaa &1 o+ Jd Sy
Ans 1. 1.25
<2 7.00
X3 4.25
X4 275
Question Type : MCQ
Question ID : 26433083783
Status : Answered
Chosen Option : 2
Q.36 =i 71 fig 3 Ul Ugan, gE AR EERT Al AT 1, 6 3R 15 €, & S5 B e diae dter quie g,
Fun ]
Ans 1
= 1 R
625
. 1
X2 —
5
. 1
K3 —
25
1
w4 —
125
Question Type : MCQ
Question ID : 26433083900
Status : Answered
Chosen Option : 3
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Q.37 E . A
i d SRR s o O Sgas & 4 J1d o |
g : 3% A E9 Wl
JREN ;| 4 2 |
Ans @£ 1. 6.20
<2 6.40
X3 6.25
<4 6.00
Question Type : MCQ
Question ID : 26433083777
Status : Answered
Chosen Option : 1
Q.38 yy 3Rz TR R, 1y = 080,13, = 0.64, M 53, = 0.79 T, T T TG 0N BT T B2, T2
Ans X1 0.43
<2 0.53
o 3. 0.64
<4 033
Question Type : MCQ
Question ID : 26433083837
Status : Answered
Chosen Option : 3
Q.39 gz ot grefese HeaT A & SFHd SaRTFUIT 5 : 6 8, O UeT & Ufded SaNTHurd 91 B
Ans X 1. 6:11
X211:6
3 6:5
X4 5:11
Question Type : MCQ
Question ID : 26433083821
Status : Answered
Chosen Option : 3
Q.40 o
& 91 fdehed 0d 82
Ans o 1.
qul S HIAE AN = AEU & T HTa IR + e S T Hr A an
X 2.
k FREGUT 3R N U&01 & T, 998 & &1 IR0 B WidA Biick—1 &
X3,
k FEgU 3R N U0 & T, 9 & HidR TRU Bl WA Bife N—k 8
X 4.
quf & & &1 TRT = =001 o 7 T G + FfS & &l b1 any
Question Type : MCQ
Question ID : 26433083924
Status : Answered
Chosen Option : 2
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! SRERaT e URgfiER & g, B U1 e Taia &2

Ans o 1.
Yo 7, 3R &l Y SRR O dT09 i & g Udis SR W s ifafved Yar 98 di o @

x 2.
IR0 95p 59 920 R & ol ¢ b s Ui ufi & forg i aRsRar A e at

x 3.
AT ¥, 38 U R (01 1 2R $ FIR U USR Hiad 218 & 48 B $Har aReRd & guma 8l
x 4.

< ARG I TR A0l B HEd Bl ¢, 68 b a1 iHe A I |11 oIdl &l

Question Type : MCQ
Question ID : 26433083908
Status : Answered
Chosen Option : 2

Q42 Which one is not non-probability sample method
Ans & 1. Cluster sampling

X 2. Quota sampling

X 3. Purposive sampling

X 4. Snowball sampling

Question Type : MCQ
Question ID : 26433083948
Status : Answered
Chosen Option : 3

Q43 S 1 g1y 2R HIEBT HAT: 10 2R 12 &, I 507 [Hud aaR 8l

Ans 21 16
<2 20
X3 14
X4 18

Question Type : MCQ
Question ID : 26433083880
Status : Answered
Chosen Option : 1

Q.44 fe seR A (o) SR <IN (1) o oG T Hed-HH Epoq, = 260,5p,d, = 395,500, = 264,5p, q; = 422
. 1 A=l ueiad] T el s aieR 87

Ans 1. 155.92
X2 17592
X3 14592
X4 165.92

Question Type : MCQ
Question ID : 26433083942
Status : Answered
Chosen Option : 1
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® e 3 sifest & fog,
ay : g a3 4
Jdled: 25 95 55 o4

el 3.9 T TR TCH AT J1d i

58
57
56
a9

6
5 75

[

Ans

o 1.
x 2.
x 3.
x 4.

Question Type :
Question ID :
Status :

Chosen Option :

MCcQ
26433083845
Answered

1

Q.46 g e I8 @l 15 TR ST fobar o & 1R = vk aiferer 7 ifed ged gol fpu o 21
Hbdged:t 2 3 4 5 6
HHO Pl :3 0o 4 2 5 1
TP IR & §iceTd (Y o R 4 3§51 T 3 BT STHISE Wi fbai g2

Ans T 1|
x20
X3 1/2
W4 2/5
Question Type : MCQ
Question ID : 26433083912
Status : Answered
Chosen Option : 4
Q.47 e 7y faig & afa: e, i <R el Smeol ot 2, 8 ST 14 S, 1 et o S9m i g,
BT
Ans X1 —1.25
2 —2725
X3 025
X4 —0.25
Question Type : MCQ
Question ID : 26433083801
Status : Answered
Chosen Option : 2




Join Telegram Group "HaryanadJobs.in"

Q48 g & o faayl w el ol der x & Rufef@d SR Se ol SHid w1 31 S|

X:Z 4 & ® A0 12
JRERAr . 3 4 2 1 4 2

Ans  X'1. 4.625
X2 7.625
X3 5.625
o4 6.625
Question Type : MCQ
Question ID : 26433083775
Status : Answered
Chosen Option : 4
Q.49 7 AefEesd 9R X, M7 15 3R TEROT 10 F T1ef THIER 0 37K p aTdl fGUS So HT S8R0 a1 €, 1 950 3
A G H
Ans A8
K1 —
3
47
X2 —
3
46
W3 —
3
49
P
3
Question Type : MCQ
Question ID : 26433083866
Status : Answered
Chosen Option : 1
Q.50 = K
V&fUT & 10 aifiepd sfide uifdhd g
Ff: 24 46 68
dRdRdl = 2 |
SEIEEER |
Ans x 1. o : f %_
X2 YFIHD §
v AR
X 4 HUTHAS &
Question Type : MCQ
Question ID : 26433083803
Status : Answered
Chosen Option : 2
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Q3 RAgifed SR Tl (ANOVA) AT H, x,  FA.
FRU S |@d= [T |afal | f
1G] Fiic |&1 |7=

am | am
WAD |2 204 | 147 E,
hRUI
WRBE |2 6 3 F,
hRUI
Fed |4 12 |3
RO
Fa % 312

Ans  X1.(9,49,1)

F B T HM J1d S|

«2 (8,49 1)
X3 (8,49 3)
X4 (9,49, 3)
Question Type : MCQ
Question ID : 26433083861
Status : Answered
Chosen Option : 2
Q.52 R ay (2020) H @G ARC. XyZ, MNO 1R 1TK & T (T 7) hITRT: 20, 18, 12, 24 T aY (2022) T A
25,22, 15, 28 T | T GNTIeTes 1314 G 7o Yadhias &l I J1a Sifor|
Ans X1 111.62
w2 121.62
X3 125.62
<4 115.62
Question Type : MCQ
Question ID : 26433083940
Status : Answered
Chosen Option : 2
3
8.9,7. 10, 8. 8. 10, 8, 7. 9 V&JUT o HIfesT JTd HY |
Ans X 1. 82
X2 84
<3 85
4. 8.0
Question Type : MCQ
Question ID : 26433083904
Status : Answered
Chosen Option : 4
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B P 1 fdeed wel g7
Ans ﬁf 1. 1"12 . [}.69, 1"13 = 0.22, 1'23 = 0.23, R]ﬂza = 0.69

x 2. 1"12 — 021, 1'13 — 0.22, 1"23 — 0.23,R1_23 — U.ZU
x 3. I'12 — [}24, 1'13 = D.EEJ rza — 0.23,R1‘23 = 0.21
X4 1y, = 0.69,r;5 = 0.22,r,5 = 0.23,R, 55 = 0.21

Q.54 gfax, x, Nx, & 0 Aes wH= & R vgvey i ag Weuey uis &l r SRR R e e m

Question Type :
Question ID :
Status :
Chosen Option :

McQ
26433083938
Answered

4

@ Seq % mrer SR AfEET, 12 @R 15 2, I 950 I1d S 1oy

Ans X 1. 15
2 2]
X3 24
<418
Question Type : MCQ
Question ID : 26433083781
Status : Answered
Chosen Option : 2
Q.56 3o HMHR & &l elidet Gyl § A [Ade Hagk: 3 2 4 T T GHIG T2 ULk 4 2R 4 §1 TSR 15
& TR g1 T B HAS [Gaa I B
Ans
wi |88
5
x2 |[%8
5
x3 7=
5
x4 79
5
Question Type : MCQ
Question ID : 26433083787
Status : Answered
Chosen Option : 1
Q.57 Srogail, 91 (1 ke) R AT (1 ke) & 70, 79 2010 T HH: 2100 2R 250 &, S T 2020 T Hed HAE:
2125 AR 760 ¥ | ATERR 750 TIHI® B M TR
Ans  X'1.120.33
2 123.33
X3 122.33
X4 12533
Question Type : MCQ
Question ID : 26433083841
Status : Answered
Chosen Option : 2
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Q.58 fagy offrsT T F1 I5a 12 1 S50 & S Uall B sRaRaIa! &1 AR 16 31 39

A X1 PSR ERTe
X2 | PREREA S

v3 ATaH e 8

X4 41 PRSI

Question Type : MCQ
Question ID : 26433083785
Status : Answered
Chosen Option : 2
% afg 2, i &1 grefese 911 X 3R v &I wWd3 $el wdl g |
Ans X 1. B(XY)=XE(Y)
X 2. E(XY)=YE(X)
X 3. E(XY)=E(X) + E(Y)
« 4 E(XY)=E(X) E(Y)
Question Type : MCQ
Question ID : 26433083767
Status : Answered
Chosen Option : 4
@ 7y 4 3R B TRER sfuaSh &, O T e fEE T e 82
Ans X 1. P(A+B) = P(4) + P(B)
+2 P(AUB) = P(4) + P(B)
X3 P(AnB)=20
X4 P(AUB) = P(4)+ P(B) + P(AN B)
Question Type : MCQ
Question ID : 26433083815
Status : Answered
Chosen Option : 4
Q.61 x, 3fRx,TeTA AR B F U gH B ITT ST T HL E T D T, AR A, P WY @ e BT
TR HA S, A6 ¥, AR Y, TeTA AR B & RIS, T min(Y, Ys) T AT B |
An )
T v AR, +2,) 9 Ui §ed
X 2. 199 & min(Ay,2,) 910 91T g
X3 HE G (A, +2,) I WA de
X4 HEA T |A,—2,| a1 W g
Question Type : MCQ
Question ID : 26433083862
Status : Answered
Chosen Option : 2
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g EIUE S RERER g

Ans
X1 JWWF@T
1
X2 J"'F"T —
) 1
. 1
4. . . 2
(e gaerTsh §&T )

o

Question Type :
Question ID :
Status :

Chosen Option :

McQ
26433083843
Answered

3

Q.63 7z faar iR SO TqYe &1 9 6 § iR agdes faged 1.5 . 7 9geie fger i &1 9 g1a Y

Ans X 1. 0.4
<2 0.7
3 0.5
<4 06
Question Type : MCQ
Question ID : 26433083910
Status : Answered
Chosen Option : 1
Q.64
BIF T HYT T 82
A et
" X UyfHe ofids d A & O U8l 9R U [T 9T g
o 2.

UTyfie Sifhs Uehd 31 THY 3R &9 gFI &1 =¥ T BT A el giaT 2
X 3. UIyfAs 2{idhs aRdids gl & |
X 4. TR Hihs i fayeig <k STged BIa B

Question Type :
Question ID :
Status :

Chosen Option :

MCcQ
26433083773
Answered

4
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Q.65 afg 7 wre77 0 IR TEROT 1 T A THHIT S+ T HERUN S &1, T 22 THTaHT e S 82
Ans o1 WA Hife | H@W{Cﬂebyshev)aﬁ

X 2. Jre 0 3R WERUT | aTel W ged

X3 g=13Rp =1 diderded

X4 g=13Rp =1 9d T scA

Question Type : MCQ
Question ID : 26433083763
Status : Answered
Chosen Option : 3

Q66 |, iR p BT HF 1l R o e diferesr, |1 1.1 el Ui dl Goa| M Bad gl
X: 0 1 2
PX=x): 3a 3b 4b

Ans X1, (0.2,0.1)
2 (0.1,0.1)
X3 (0.2,0.2)
X 4. (0.1,0.2)

Question Type : MCQ
Question ID : 26433083819
Status : Answered
Chosen Option : 2

Q.67 fe SRERGT ¥ «,|f; 1 TS, Tal X 16T G2HG FAE 3, 10, 16 B T HE (Kelly) BT T 0TS J10

B
Ans 1

w1l ——
13

;N2
13
2

p o
13
3

Ka v
13

Question Type : MCQ
Question ID : 26433083797
Status : Answered
Chosen Option : 1
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Q.68 ﬁﬁﬂ@ﬁg%uﬁﬂ Tl ud g arI'l‘El[U'f(second and third moment), 8 3T 18 BT 3R H1ET & URT: i 3{@?
(third moment) —14 ﬁ, ﬂ‘ﬂi—ﬁ & Uig: wed S{H‘Uf (first moment) Waﬁﬁﬁt{\

Ans X1 3
w2 2
<3 1.5
X4 1
Question Type : MCQ
Question ID : 26433083793
Status : Answered
Chosen Option : 2
Q.69 ’ .
g e &1 7% 3R 950, 32 3R 21 81, a1 e |
A
"X [y gl el e
X2 FUTHS Y Y [d99 gidl &
v Y[HS U Y f[AYg gidl &
X 4 IR -Te! fdoar ot 9ehdl 8
Question Type : MCQ
Question ID : 26433083799
Status : Answered
Chosen Option : 3
Q.70
IR 7€ P91 dug (skewness) Pl B{Tafgﬁfmq :Ié:f %"?
Ans Pgg—2Pzp+P
x 1 90 50 10
Pgo—Pip
« 2. Hi] - dgdid
X 3. (Q3—-Q;)-(Q;—Q4)
Q:-Q,
Dg—2D:+D
x4. 9 3 i
Dg—Dy
Question Type : MCQ
Question ID : 26433083896
Status : Answered
Chosen Option : 2
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T & HHAR (e &1 Wit fhal 22
Ans 8
o 1.
16575
16
16575
4
16575
32
16575

X 2.

X 3.

x 4.

Q71 5 FET S U TS = P IE Y, A S50 aRfee TU Y 3 B8 Ma o ¢ | U SIGKIE, T S SR T

Question Type : MCQ
Question ID : 26433083916
Status : Answered

Chosen Option : 1

Ans 1. z=13.6

X2 gz=24
X3 z=232
X4 z=30

Q.72 gg yife e &1 e § 5 e | S5 & A1 HR, AFS fae 20 6 WY 82 ke § o 81115 51
ST AT IR &1 F15 T 00 & AR HR 35 F1Y FAF 151 STl 81, O TIen il fhyes aRre g

Question Type : MCQ
Question ID : 26433083952
Status : Answered
Chosen Option : 1

fxy) =kx; 0=y =x =<1 B, Ak P AN FIT BT
Ans 1. 3

Q.73 72y el A & ATeah! 3 WcefT-HIa 3R Sa1-BId BT RGO 3 a1 X AR Y T OGHRT Tcd

X2 4
X3 2
FaE A |
Question Type : MCQ
Question ID : 26433083864
Status : Answered
Chosen Option : 3
Q.74 oz fafga arefs® TR X BT ATYUTSHD HEH (q + ped)® T, T EX?) T T fruas SaR g
Ans 1. np(np+ q)
X2 nq(np+q)
X 3. np(p+nq)
X 4 nq(p +nq)
Question Type : MCQ
Question ID : 26433083870
Status : Answered
Chosen Option : 4
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Q.75 fypfai@d el 3 o iaei o Seday Ui 0.8 81 418 X & Uele UE0T I 2012 3R v & Ul Heful ol
ST e fa ot 8, Al diode wgdey uiies fed eve gl g
X :1 2 & 4
Y 3 4 2 1

Ans  X'1. —0.81
X2 —079
X3 —0.82
« 4 —0.380

Question Type : MCQ
Question ID : 26433083932
Status : Answered
Chosen Option : 4

Q.76 wWhich of the following is the most relevant for deriving a point estimate?
Ans X 1. Population size

< 2. Confidence desired
« 3. Sample size

X 4. Variability in the population

Question Type : MCQ
Question ID : 26433083956
Status : Answered
Chosen Option : 1

Q.77 ity S A MB A F el & ofad saigya @1 sma B3 % [, greftss w0 9 Ty v
BT B A I &, orTe] U HH a1forey, fag #fiR sifimife! &l ¢ 1 59 R & WioaaH (sampling) &
CEIEIRIE]

X 1. g grews Hiceg- (simple random sampling)
2 "&RP@_C{ TfCrd (stratified sampling)

X3 1lad PIRERE] (cluster sampling)

X+ gufAd gidagT (systematic sampling)

Ans

Question Type : MCQ
Question ID : 26433083853
Status : Answered
Chosen Option : 4
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AT THET (ANOVA) F [T S 91 e Tad &2
Ans 1 n ﬂ@%aﬁﬂaﬁfﬁlﬁm
X e S BT N = oo

X2
FAEAAT - A AT 4 T @ B
ViR = g & Wik ¥ &1 I g

 §Hg & d1d 37 &1 AT AT

X4 P HIHAAN = SclH Hal TR

Question Type : MCQ
Question ID : 26433083922
Status : Answered
Chosen Option : 2

Q.79 ot 3 wfera, 2 fEit TR Udiw w0 IHg § 5 S1-0RT UAET (aNovaA) & 9 H, o fipan, 3 siRga &
HRUIYURU] & Hid & o Wid Hife HHE: gl

Ans 1. (2, 24, 29)
X2 (6,24, 29)
X 3. (6,30, 30)
X4 (2, 24, 30)

Question Type : MCQ
Question ID : 26433083926
Status : Answered
Chosen Option : 4

8 A H B Oy EASIEEERIGS
Ane X TS HRP (seasonal component)
< 2. GhIg PRD (cyelical component)

X 3. AT BRS (irregular component)
X 4. Udd (trend)

Question Type : MCQ
Question ID : 26433083847
Status : Answered
Chosen Option : 1
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Q81 a1ef S Tl 1 TART X 5T, S aifered aRi Sl qe AT o2 oie._ |
A k. rer Aol # Hed ) OH Tem Iiea el 8

X 2 1t Joft a1fies el IR ofenia gl 8

X 3. Ygfl HIeH & QY& GHAd eidl &

v ygR v B g

Question Type : MCQ
Question ID : 26433083946
Status : Answered
Chosen Option : 2
Q82 gfayamiis, 6,3, 1,2, 5 T AP NG 0.233 &1, T 16, 12, 6, 2, 4, 10 BT JHP IuH 1 BT
Ans X 1. 0.466
¥ 2 (.233
<3 0.1165
<4 0932
Question Type : MCQ
Question ID : 26433083791
Status : Answered
Chosen Option : 1
Q.83 o
& 9 [debed 7Ta7d 82
Ans X 1.
YA ST &I garl H (Gl Sl & 710 HH T+ 3R o @1 SfTa=dandl sidl &
v 2 fgdras ST i gidi 8
X 3.
e g1 37 Sor &l Hafila ovdr 8 o ft o =afd R ugd 9 &1 Uod fpu e )
X 4.
Wi Se1 3! gan | fgdiue Se1 od fyaia ok &1 Sued g g
Question Type : MCQ
Question ID : 26433083872
Status : Answered
Chosen Option : 3
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8\ BT aE AF A S, R FefiiEd witied geadH Bad 8 9|

X 2= ¢ 1 2 3
PX=x):2k 3k 4k 3k 2k k
Al
ns 1 l
16
1
o2 —
15
X3 =
14
x4 L
15
Question Type : MCQ
Question ID : 26433083918
Status : Answered
Chosen Option : 2
Q85 gfe 4B 2R ¢ TrEfEsE YU S, 9 P(4 0 B n €) BT HF BT sRER 2
Ans X 1. P(A)P(A|B)P(A n B|C)
X 2. P(A)P(B)P(C)
v 3 P(A)P(B]A)P(C|A NB)
X 4. P(4) + P(B) + P(C)
Question Type : MCQ
Question ID : 26433083769
Status : Answered
Chosen Option : 3
Q.86
5,3,2, 6,8, 4 B BA] CRHSP (D, ) J1d RIfSU|
Ans  X'1. 530
2. 520
X3 525
X4 515
Question Type : MCQ
Question ID : 26433083779
Status : Answered
Chosen Option : 3
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Q87 ¥ P IRaRAT se & oy, i Ufa e Ge orfadl B gen FEaR )

X 0 2 4

p(x)> 05 03 02
X &1 A HHIOT AT J1d BHifor|
Ans  X'1. 32
X2 28
X3 36
w4 4.8
Question Type : MCQ
Question ID : 26433083795
Status : Answered
Chosen Option : 2
Q.88 TfE P(A) = 0.4;P(B|A) = 0.05; P(C|A) = 0.04;P(B|AN ) = 0.09; P(C|A n B) = 0.07 &I, I T+ ge=mait
& gfed g &1 Wi I Sify |
Ans  X'1.0.014
x 2. zﬂrﬁaﬁaﬂﬁ 31@ e
« 3 0.0014
X4 014
Question Type : MCQ
Question ID : 26433083817
Status : Answered
Chosen Option : 1
Q.89 1R 0 3R 6 F F gl T T TS e HI: 3 AR 4 T TR A6 B 3 AR 3 8| HFR 15F
g il Gy &l A [aaa 1d B
Ans
v |22
15
X2 28
15
x 3. 28
15
x4 2
15
Question Type : MCQ
Question ID : 26433083886
Status : Answered

Chosen Option :

1
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Q90 prfdrese] B B £(x) = S22 x = 3,4,5 T AR5 TR X 1, X 1 TR0 1G BT

Ans x 1. E
5
4
o2 —
25
x3 Z
5
x4 125
25
Question Type : MCQ
Question ID : 26433083765
Status : Answered
Chosen Option : 1
st 0;x < —1
1
y . “(x+1)?%-1<x<0
RN FABTE F() =" .
R e 6 B |
;1<x<oo
& fo1e, SRl aqdes fofg o g2
Ans X1 1+405
X2 1-—4/0.25
v 3 1—+/05
X4 1+4025
Question Type : MCQ
Question ID : 26433083920
Status : Answered
Chosen Option : 2
Q. = N
* 1ot 4t B "ed & U S U1 fiwed Tad 22
Ans X 1.
o 2.
ol 1 9ot & R H U faeyTge o8 afofa =16t fsan o 9asan 8, By 9% Feal o
X 5. Teh D, S T &1 Tie (URT) Sl ol &
X 4.
Ut & TR T HiAD ARIS! A1 Sfarle! = vafi el 8
Question Type : MCQ
Question ID : 26433083944
Status : Answered
Chosen Option : 2
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Q.93 7 fmre 10 aell TAMP T W1 1Y 34.25 TS SR 100 & 38T T8 & o 71 o & GRM el TR &
geferafl & oY 2 3iTg &1 930 fayraar siawme e &2

X 1. [32.29, 36.58]
v 2 [32.29,36.21]
X3 [31.92, 36.58]
X 4. [32.605, 35.895]

Ans

Question Type :
Question ID :
Status :
Chosen Option :

MCcQ
26433083954
Answered

1

% et (anova) & U S 91 Ribey gel el 8o

x 1.
RO & el F3uid &) wrdl ¢ difes gg Fuiid faran i ae & are sfR wam § owl 9s18

¥ 2. F -3fUId [—o0,00] Y Yelld g

X3
Ao fetics UREBEH H, . 1 Y HH U THIP A1 Ueb gk § A glar @

x4 WWHD:}UI =il e =g

Ans

Question Type :
Question ID
Status :
Chosen Option :

mMcQ

: 26433083823

Answered
2

Q.95 ; ﬁF‘TUﬁ(treatments) Ran W%m@hmm%m, Vi = i meﬂﬁﬂjm
W‘Sﬁéﬂﬁm.zi&yu = S?RZ?EJ’U = Y. %sﬁﬁﬁmﬁmﬂﬁ%’

Ans X 1.
¥k n, (7, — )2, FREUUI (treatments) & SRUI Gl & GRT BT F=YU Bl §
x2
T B (v — 7.) " 3 o BRI O & T BT R0 B §
W 3.

E:‘q(}_&, —¥y)2, o (treatments) %Wﬂ%qﬁmﬂwaﬂﬂ%
X T B (v —.) T b A AN BT R0 R @

Question Type :
Question ID :
Status :

Chosen Option :

MCcQ
26433083827
Answered

2
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Q.96 WW—W%%WWﬁ%WM(LaSWyES)WWW%IIEQ
X | oMURTY | T ay

(2000) (2020)
HAT | Hed | HET | Hed
(S H) (SH)

1 20 20 30 50
2 40 30 50 60
3 60 40 70 70

Ans  X'1. 180
X2 |88
« 3. 190
<4 184
Question Type : MCQ
Question ID : 26433083960
Status : Answered
Chosen Option : 4
Q.97 fvmgfrs Hra-avh affiesl o saa Wiy (1), Tfhd (o) 3R i () 9o g 8. SR 5H g ver o
fopar AT 82
Al
"™ x1 ¥ x 100
C
X2 =X 100
« 3. (T.C.I) x100
X4 =2 100
Question Type : MCQ
Question ID : 26433083849
Status : Answered
Chosen Option : 3
Q98 71f2 Y Ve Bl et B foar o ot agefes faaer o urids TR 1 g TS
Ans
X1 T gl S
X 2. gg off ofmeqt g S
v ° gyTad &
X 4. T BT Ueb AYTS 8 SIgT
Question Type : MCQ
Question ID : 26433083888
Status : Answered
Chosen Option : 2
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% TR DR 10, 11, 9. 12, 10, 10, 12, 10, 9, 11 1 HIEPT 1 S|

Ans & 1. 10

<28
X3 11
<40
Question Type :
Question ID :
Status :

Chosen Option :

McQ
26433083805
Answered

1

Q100 71f2 <fere A e =R X T SIS W 2+ < 2 B E(X®) AN [ SRIR &2

Ans a

Question Type :
Question ID :
Status :

Chosen Option :

McQ
26433083771
Answered

2






